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Find the noun form of the word ‘eager’ (817)
1) eagerly 2) eagerness 3) eagerfully 4) eager
Find out the Antonyms for word ‘make’ (815)
1) take 2) curve 3) miss 4) break
Read & Find out the correct type of sentence. (826)
A) Sentences B) Types
1) What has happened ? a) Exclamatory
2) Wonderful ! b) Negative
3) No, not even then ! c¢) Interrogative
4) Take me to him d) Imperative
1) 1-a, 2-b, 3-d, 4-c 2) 1-c, 2-a, 3-d, 4-b
3) 1-c, 2-a, 3-b, 4-d 4) 1-c, 2-d, 3-a, 4-d

Read the stanza and answer the follwing questions (816)

Pain from words has left its scar
On mind and heart that’s tender
Cuts and bruisers now have heated
It’s words that I remember

Where do words leave their scars ?
1) On pain 2) On mind 3) On heart 4) Both options 2 and 3

Find out the Headword showing related words given in the web. (837)

wind
bellows sky

stone ﬁ flowers

animal coal
1) climate 2) weather 3) environment 4) temperature
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